Rudolf Oláh On oscillation of solutions of linear deviating differential equation

Archivum Mathematicum, Vol. 21 (1985), No. 2, 77--83

Persistent URL: http://dml.cz/dmlcz/107218

Terms of use:

© Masaryk University, 1985

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

ARCHIVUM MATHEMATICUM (BRNO) Vol. 21, No. 2 (1985), 77-84

ON OSCILLATION OF SOLUTIONS OF LINEAR DEVIATING DIFFERENTIAL EQUATION

RUDOLF OLÁH, Žilina (Received January 25, 1982)

Abstract. A sufficient condition is given that an solutions of the equation $y^{(n)}(t) + p(t)y(g(t)) = 0$, $n \ge 1$, are oscillatory if *n* is even or odd. It is assumed throughout this paper that p(t), g(t) are continuous on $[0, \infty)$, p(t) > 0, g(t) < t, $\lim_{t \to \infty} g(t) = \infty$, g(t) is nondecreasing. The oscillatory

behaviour of the equation involving retarded and advanced arguments is studied, too.

Key words. Deviating argument, linear equation of n-th order, oscillation of solutions, non-oscillatory solution of degree l.

1. Introduction

The purpose of this paper is to study the oscillatory behaviour of solutions of the linear differential equation with retarded argument

(1)
$$y^{(n)}(t) + p(t) y(g(t)) = 0, \quad n \ge 1,$$

and the asymptotic behaviour of solutions of the linear differential equation with advanced argument

(2)
$$y^{(n)}(t) + q(t) y(h(t)) = 0, \quad n \ge 2,$$

where p(t), q(t), g(t) and h(t) are continuous functions on $[0, \infty)$ such that p(t) > 0, q(t) > 0, g(t) < t, h(t) > t and $\lim_{t \to \infty} g(t) = \infty$.

The oscillatory behaviour of the equation involving both retarded and advanced arguments

(3)
$$y^{(n)}(t) + p(t) y(g(t)) + q(t) y(h(t)) = 0, \quad n \ge 1,$$

will also be studied.

•

A solution y(t) of the equation (1) (or (2), (3)) is called oscillatory if it has arbitrarly large zeros, and it is called nonoscillatory otherwise.

Lemma 1. (Kiguradze). Let y(t) be a solution of the equation (1) (or (2), (3)) satisfying the condition

R. OLÁH

$$y(t) > 0 \quad for \ t \in [0, \infty),$$

and let $y^{(n)}(t) \leq 0$ for $t \in [0, \infty)$.

Then there exist a $t_1 \in [0, \infty)$ and an integer $l \in \{0, 1, ..., n-1\}$ such that l + n is odd and

(4)
$$y^{(i)}(t) > 0$$
 for $t \in [t_1, \infty)$ $(i = 0, ..., l - 1),$
 $(-1)^{i+1} y^{(i)}(t) > 0$ for $t \in [t_1, \infty)$ $(i = l, ..., n - 1)$

(5)
$$(t-t_1) | y^{(l-i)}(t) | \leq (1+i) | y^{(l-i-1)}(t) |$$
 for $t \in [t_1, \infty)$ $(i = 0 \dots, l-1)$,
 $1 \leq l \leq n-1$.

Analogous statement can be made if y(t) < 0 and $y^{(n)}(t) \ge 0$ for $t \in [0, \infty)$. An y(t) which satisfies (4) is said to be a (nonoscillatory) solution of degree l (see Foster and Grimmer [1]).

2. Retarded equation

We consider the equation (1) with retarded argument where p(t) and g(t) are continuous on $[0, \infty)$, p(t) > 0, g(t) < t, g(t) is nondecreasing and $\lim g(t) = \infty$.

Theorem 1. Suppose that for every $l \in \{0, 1, ..., n-1\}$ such that n + l is odd and for some $d_l \in \{0, 1, ..., n - l - 1\}$ it holds

(6)
$$\lim_{t \to \infty} \sup_{g(t)} \int_{g(t)} [s - g(t)]^{n-l-d_l-1} [g(t) - g(s)]^{d_l} [g(s)]^l p(s) \, ds > l! (n-l-d_l-1)! \, d_l!.$$

Then every solution of equation (l) is oscillatory.

Proof. Let y(t) be a nonoscillatory solution of equation (1) such that y(g(t)) > 0for $t \in [t_0, \infty)$, $t_0 \ge 0$. Then with regard to Lemma 1 there exist $t_1 \in [t_0, \infty)$ and $l \in \{0, 1, ..., n - 1\}$ such that n + l is odd and (4), (5) hold. For sufficiently large $t_2 \in [t_1, \infty)$ in view of (5) we have

(7)
$$y(g(t)) \ge \frac{[g(t) - t_1]^l}{l!} y^{(l)}(g(t)), \quad t \ge t_2, \quad 0 \le l \le n - 1.$$

From the equality

(8)
$$z^{(j)}(t) = \sum_{i=j}^{k-1} (-1)^{i-j} \frac{(s-t)^{i-j}}{(i-j)!} z^{(i)}(s) + \frac{(-1)^{k-j}}{(k-j-1)!} \int_{t}^{s} (u-t)^{k-j-1} z^{(k)}(u) \, \mathrm{d}u,$$

 $s \ge t \ge t_2$, for k = n - l we get

(9)
$$z^{(j)}(t) = \sum_{i=j}^{n-l-1} (-1)^{i-j} \frac{(s-t)^{i-j}}{(i-j)!} z^{(i)}(s) + \frac{(-1)^{n-l-j}}{(n-l-j-1)!} \int_{t}^{s} (u-t)^{n-l-j-1} z^{(n-l)}(u) \, du$$

78

Choose $z(t) = y^{(1)}(t)$. Then for $j = d_1, d_1 \in \{0, 1, ..., n - l - 1\}$, from (9) with regard to (4) we have

(10)
$$|z^{(d_1)}(g(t))| \ge \frac{1}{(n-l-d_l-1)!} \int_{g_{\lambda}(t)}^{t} [u-g(t)]^{n-l-d_l-1} |z^{(n-l)}(u)| du.$$

From (9) for $u \in [g(t), t]$, $d_i \in \{0, 1, ..., n - l - 1\}$, j = 0, we get

(11)
$$|z(g(u))| \ge \frac{[g(t) - g(u)]^{d_l}}{d_l!} |z^{(d_l)}(g(t))|.$$

From (10) in view of equation (1) we obtain

$$|z^{(d_{l})}(g(t))| \geq \frac{1}{(n-l-d_{l}-1)!} \int_{g(t)}^{t} [u-g(t)]^{n-l-d_{l}-1} |y(g(u))| p(u) du.$$

From the last inequality using (7) and (11) we have

$$l!(n-l-d_l-1)! d_l! \ge \int_{g(t)}^{t} [u-g(t)]^{n-l-d_l-1} [g(t)-g(u)]^{d_l} [g(u)-t_1]^l p(u) du.$$

So for t sufficiently large we get a contradiction to (6). This completes the proof.

If for every $l \in \{0, 1, ..., n - 1\}$ we take $d_l = 0$, we get the next corollary.

Corollary 1. Suppose that for every $l \in \{0, 1, ..., n-1\}$ such that n+l is odd the following holds

(12)
$$\lim_{t \to \infty} \sup_{g(t)} \int_{0}^{t} [s - g(t)]^{n-l-1} [g(s)]^{l} p(s) \, \mathrm{d}s > l! (n-l-1)!$$

Then every solution of equation (1) is oscillatory.

Corollary 2. [5]. Let *n* be odd and let for some $d \in \{0, 1, ..., n-1\}$ hold (13) $\lim_{t \to \infty} \sup_{g(t)} \int_{g(t)}^{t} [s - g(t)]^{n-d-1} [g(t) - g(s)]^d p(s) \, ds > (n-d-1)! \, d!.$

Then every bounded solution of equation (1) is oscillatory.

Proof. If y(t) is a bounded nonoscillatory solution of equation (1) then l = 0 and we can apply Theorem 1.

We introduce the notation:

$$G(t) = \max \{ s - g(s) : g(t) \leq s \leq t \}.$$

Corollary 3. Let n be even and let

(14)
$$G(t) \leq g(t) \quad \text{for } t \geq T, T \in [0, \infty),$$

hold and in addition

(15)
$$\lim_{t \to \infty} \sup_{g(t)} \int_{g(t)} [s - g(t)]^{n-2} g(s) p(s) ds > (n-2)!.$$

Then every solution of equation (1) is oscillatory.

R. OLÁH

Proof. In view of (14) the condition (15) implies (12) and we can apply **Corollary 4.** Let n be odd, let (14) hold and in addition

(16)
$$\lim_{t\to\infty}\sup_{g(t)}\int_{g(t)}^{t} [s-g(t)]^{n-1} p(s) \, \mathrm{d}s > (n-1)!.$$

Then every solution of equation (1) is oscillatory.

Proof. In view of (14) the condition (16) implies (12) and we can apply Corollary 1.

Example 1. Every solution of the retarded differential equation

$$y'''(t) + y\left(t - \frac{3}{2}\pi\right) = 0,$$

with regard to the condition (16) is oscillatory. One such solution is $y(t) = \sin t$ But the corresponding ordinary differential equation has a nonoscillatory solution.

Example 2. Consider the differential equation with retarded argument

(17)
$$y'''(t) + \frac{\ln t}{t^3} y\left(\frac{2}{3}t\right) = 0, \quad t > 1$$

The well-known sufficient condition which guarantees that every solution of equation (17) is oscillatory or $\lim_{t\to\infty} y^{(i)}(t) = 0$, i = 0, 1, 2,

$$\int_{0}^{\infty} \left[g(t) \right]^{2-\varepsilon} p(t) \, \mathrm{d}t = \infty, \qquad \varepsilon > 0,$$

is not satisfied. The conditions (14), (16) are satisfied. So every solution of equation (17) is oscillatory.

Remark 1. Theorem 1 holds for the following differential inequality too

 $\{y^{(n)}(t) + p(t) y(g(t))\} \operatorname{sgn} y(g(t)) \leq 0.$

3. Advanced equation

In this section we are concerned with the differential equation (2) with advanced argument where q(t) and h(t) are continuous on $[0, \infty)$, q(t) > 0, h(t) > t, h(t) is nondecreasing.

Theorem 2. Suppose that the following condition is satisfied

(18)]
$$\lim_{t \to \infty} \sup_{t} \int_{t}^{h(t)} (s-t) s^{n-2} q(s) \, \mathrm{d}s > (n-1)!.$$

Then equation (2) has no solution of degree $l \in \{2, ..., n-1\}$.

80

Proof. Let y(t) be a positive solution of equation (2) on $[t_0, \infty)$, $t_0 \ge 0$, the degree of which is $l \in \{2, ..., n-1\}$, $n \ge 3$. It is easy to see that equation (2) for n = 2 has only (nonoscillatory) solutions of degree l = 1. With regard to Lemma 1 from (8) for j = l, k = n, $t > t_0$, we have

$$y^{(l)}(t) \ge \frac{1}{(n-l-1)!} \int_{t}^{\infty} (u-t)^{n-l-1} q(u) y(h(u)) du.$$

We integrate the above inequality from t_0 to t, $t > t_0$,

$$y^{(l-1)}(t) \ge \frac{(t-t_0)^{n-l}}{(n-l)!} \int_t^\infty q(u) y(h(u)) du.$$

Repeating this procedure we get

$$y'(t) \ge \frac{(t-t_0)^{n-2}}{(n-2)!} \int_t^\infty q(u) y(h(u)) du.$$

We integrate the last inequality from t to h(t), $t > t_0$,

$$y(h(t)) \ge \frac{1}{(n-2)!} \int_{t}^{h(t)} q(u) y(h(u)) \int_{t}^{u} (s-t_0)^{n-2} ds du,$$

$$y(h(t)) \ge \frac{1}{(n-1)!} \int_{t}^{h(t)} (u-t) (u-t_0)^{n-2} q(u) y(h(u)) du.$$

Then

$$(n-1)! \ge \int_{t}^{h(t)} (u-t)(u-t_0)^{n-2} q(u) du,$$

and for t sufficiently large we get a contradiction to (18). This proves the theorem.

Remark 2. The Theorem 2 holds for the following differential inequality too

 $\{y^{(n)}(t) + q(t) y(h(t))\} \operatorname{sgn} y(h(t)) \leq 0.$

4. Equation with retarded and advanced arguments

We shall consider the differential equation (3) with retarded and advanced arguments where p(t), q(t), g(t) and h(t) are continuous on $[0, \infty)$, p(t) > 0, q(t) > 0, g(t) and h(t) are nondecreasing, g(t) < t, $\lim g(t) = \infty$ and h(t) > t.

Theorem 3. Let n be even and let the following conditions hold

(19)
$$\lim_{t\to\infty} \sup_{t} \int_{t}^{h(t)} (s-t) s^{n-2} q(s) ds > (n-1)!,$$

(20)
$$\lim_{t\to\infty} \sup_{g(t)} \int_{g(t)} [s - g(t)]^{n-d-2} [g(t) - g(s)]^d g(s) p(s) ds > (n-d-2)! d!,$$

for some $d \in \{0, 1, ..., n - 2\}$.

R. OLÁH

Then every solution of equation (3) is oscillatory.

Proof. Let y(t) be a positive solution of equation (3). Let y(g(t)) > 0 for $t \in [t_0, \infty), t_0 \ge 0$. Then from (3) we obtain

(21)
$$y^{(n)}(t) + q(t) y(h(t)) < 0,$$

(22) $y^{(n)}(t) + p(t) y(g(t)) < 0.$

In view of the condition (19) and Theorem 2, the inequality (21) has no solution of degree $l \in \{2, ..., n - 1\}$. So y(t) has degree l = 1 and it is a solution of (22), which is a contradiction to the condition (20). This proves the theorem.

In similar way we can prove the next theorem.

Theorem 4. Let $n \ge 3$ be odd. Let (19) and (13) hold. Then every solution of equation (3) is oscillatory.

Remark 3. Let n = 1 and let hold

$$\lim_{t\to\infty}\sup_{g(t)}\int_{g(t)}^{t}p(s)\,\mathrm{d}s>1.$$

Then every solution of equation (3) is oscillatory.

Proof. Let y(t) be a positive solution of (3). Then y(t) is a solution of inequality

y'(t) + p(t) y(g(t)) < 0,

which is a contradiction to the condition (13) for n = 1.

Theorem 5. Let n be even. Let (19) and the following condition holds

(23)
$$\lim_{t \to \infty} \sup g(t) \int_{t}^{\infty} s^{n-2} p(s) \, \mathrm{d}s > (n-1)!.$$

Then every solution of equation (3) is oscillatory.

Proof. Let y(t) be a positive solution of equation (3). Let y(g(t)) > 0 for $t \in e[t_0, \infty)$, $t_0 \ge 0$. From (3) we get (21) and (22). The inequality (21) has no solution of degree $l \in \{2, ..., n - 1\}$. Then y(t) has the degree l = 1 and it is a solution of (22). With regard to Lemma 1 and (22) from (8) for j = 1, k = n, $t > t_0$, we have

$$y'(t) \ge \frac{1}{(n-2)!} \int_{t}^{\infty} (u-t)^{n-2} p(u) y(g(u)) du.$$

Integrating the last inequality from T to t, $t > T \ge t_0$, we obtain

$$y(t) \ge \frac{1}{(n-1)!} (t-T) \int_{t}^{\infty} (u-T)^{n-2} p(u) y(g(u)) du.$$

For t > T such that g(t) > T we get

$$y(g(t)) \ge \frac{1}{(n-1)!} [g(t) - T] \int_{t}^{\infty} (u - T)^{n-2} p(u) y(g(u)) du.$$

Since y(t) is nondecreasing then we have

$$(n-1)! \ge \left[g(t) - T\right] \int_{t}^{\infty} (u-T)^{n-2} p(u) \,\mathrm{d} u,$$

which is a contradiction to (23) for sufficiently large t.

Example 3. Consider the equation

(24)
$$y'''(t) + \frac{1}{2}y\left(t - \frac{3}{2}\pi\right) + \frac{1}{2}y\left(t + \frac{1}{2}\pi\right) = 0.$$

The conditions (19) and (13) are satisfied and so every solution of (24) is oscillatory by Theorem 4. The corresponding ordinary differential equation has a nonoscillatory solution.

REFERENCES

- K. E. Foster and R. C. Grimmer, Nonoscillatory Solutions of Higher Order Delay Equations, J. Math. Anal. Appl., 77, N 1, (1980), 150-164.
- [2] I. T. Kiguradze, On oscillation of solutions of some ordinary differential equations (Russian), Dokl. Akad. Nauk SSSR, 114, N 1, (1962), 33-36.
- [3] I. T. Kiguradze, The problem of oscillation of solutions of nonlinear differential equations (Russian), Differencialnye Uravnenija, 1, N 8, (1965), 995-1006.
- [4] I. T. Kiguradze, On the oscillatory and monotone solutions of ordinary differential equations, Arch. Math. (Brno), XIV, (1978), 21-44.
- [5] R. G. Koplatadze and T. A. Čanturia, On oscillatory solutions of functional-differential equations (Russian), Tbilisi, Tbilisi Univ. Press, 1977.
- [6] T. Kusano, On even order functional differential equations with advanced and retarded arguments, J. Differential Equations (to appear).

R. Oláh Katedra matematiky VŠDS Marxa-Engelsa 25, 010 01 Žilina Czechoslovakia